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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

---------- eye contact with your audience while giving your presentation.

1) Take 2) Insure 3) Direct 4) Make

If -----om--- hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.

1) projections 2) inclinations 3) interventions 4) realizations
Warning: Anyone caught stealing from these premises will be ---------- .

1) exonerated 2) intensified 3) prosecuted 4) legitimized

The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.

1) challenging 2) exacerbating 3) dispelling 4) affirming

The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.

1) economical 2) aesthetic 3) unforeseen 4) altruistic

Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.

1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) ---------- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.
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8- 1)being 2) of those are 3) is that of 4) ever to be is
9- 1) aclassroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Vasopressin or antidiuretic hormone or arginine vasopressin is a nonapeptide synthesized in the
hypothalamus and released into the circulation from the posterior pituitary gland. Science
has known it to play essential roles in the control of the body's osmotic balance, blood pressure
regulation, sodium homeostasis, and kidney functioning. The principal stimulus to secretion of
vasopressin physiologically, is raising plasma osmolality, though significant decrease in
arterial blood pressure and blood volume can also do such an action, by unloading of
arterial baroreceptors. Although historically named as a result of its potent vasopressor
actions, these actions only occur when plasma vasopressin is present in the plasma in
supra physiological concentrations.

When vasopressin2 receptors are activated, they facilitate the reabsorption of water
from the collecting ducts of the kidney by increasing the permeability of these cells to
water. The net result of its actions is an Elevation in urine osmolality and a decrease in
urine flow. Urea transport from lumen to interstitial fluid in the medullary collecting duct
and stimulation of sodium reabsorption are another effects of vasopressin on kidneys. It is
also a potent vasoconstrictor that acts particularly on the visceral circulation and the
smooth muscle of the cutaneous arteries. Vasopressin also exerts an activity just like as
corticotropin-releasing hormone whereby it stimulates the release of adrenocorticotropic
hormone from the adenohypophysis. In particular, corticotropin-releasing hormone elicits
anxiety-like behavior as an anxiogenic neuropeptide in goldfish, as is the case in rodents.

11- The word “it”, in paragraph 1 refers to ----------- .

1) posterior pituitary gland 2) arginine vasopressin
3) the hypothalamus 4) nervous tissue
12- The word “homeostasis” in paragraph 1 is closest in meaning to ---------- .
1) osmotic state 2) blood cessation
3) stable condition 4) blood regulation
13- All of the following are considered as the main functional stimulus for vasopressin secretion
EXCEPT ---------- .
1) changes urine flow 2) descended blood volume
3) increased plasma osmolality 4) reduced arterial blood pressure

14- According to the passage, which statement is True?
1) Vasopressin can cause more urination.
2) Water can be reabsorbed through antidiuretic action.
3) Increasing urine osmolality is an action of vasopressin.
4) Deactivation of vasopressin2 receptors induces more permeability.
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The best title for this passage is -——-----—- .

1) Plasma vasopressin 2) Osmolality of urine
3) Antidiuretic hormone 4) The effects of vasopressin
PASSAGE 2:

Cells of the immune system not only use lymphatic vessels to make their way from
interstitial spaces back into the circulation, but they also use lymph nodes as major
staging areas for the development of critical immune responses. Lymph nodes are
ovoid, small organs located throughout the lymphatic system. Like the thymus, the
ovoid lymph nodes are surrounded by a tough capsule of dense connective tissue and
are separated into compartments by trabeculae. In addition to the structure provided by
the capsule and trabeculae, the structural support of the lymph node is provided by a
series of reticular fibers differentiated from fibroblasts.

A network of lymphatic vessels provided a convenient pathway for transporting the
cells of the immune system as the vertebrate immune system has been evolved. The
lymph nodes are the site of adaptive immune responses mediated by T cells, B cells,
and accessory cells of the adaptive immune system. The principal action and
responsibility of these structures, is practically removing debris and pathogens from
the lymph, and are thus sometimes considered as the filters of the lymph. Many
pathogenic bacteria that enter and infect the interstitial body fluid are taken up by the
lymphatic capillaries and transported to regional lymph nodes. Macrophages and
dendritic cells within lymph nodes also internalize and kill many of the pathogens that
pass through, thereby removing them from the body. Finally for transportation of fat-
soluble vitamins and the fats absorbed in the gastrointestinal tract also this system is
used.

All of the following items are involved as a supportive structure in immune system
EXCEPT ---------- .

1) capsule 2) trabeculae 3) macrophages 4) reticular fibers
Which cell groups are not considered as parts of the adaptive immune responses?

1) T lymphocytes 2) B lymphocytes

3) Accessory cells 4) Myoepithelial cells

The phrase''The filters of the lymph' in paragraph 2 refers to ---------- .

1) lymph nodes 2) lymphatic vessels

3) lymph capillaries 4) pathogens with debris

All of the following, according to the passage, are the duties of lymph nodes EXCEPT
1) promotion of the immune responses 2) regulation of circulatory system

3) induction of macrophage activity 4) removing many of pathogens

As stated in the text, which of the following materials are NOT carried through the lymphatic
vessels?

1) Dietary lipids 2) Digestive fats

3) Lymphatic cells 4) Fat-soluble vitamins
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PASSAGE 3:

Ruminants have a stomach composed of four structurally distinct parts. The first three
parts (the rumen, reticulum, and omasum) are collectively called the forestomach. The
rumen is the largest part of the stomach with its internal surface covered with
projections called papillae. Here the mucosa unlike the other parts of the stomach lacks
a muscularis mucosa. The rumen acts as a fermentation vat where a large population of
bacteria and protozoa act on the ingesta, thereby producing short-chain, volatile fatty
acids, which are then absorbed into the blood. Also a byproduct of fermentation is
methane, a greenhouse gas.

Plant material is initially taken into the rumen, where it is processed mechanically
and exposed to bacteria that can break down cellulose. In the rumen food is stored and
digestion takes place to form “cud”. This cud returns as small lumps to the mouth from
time to time on which the animal chews on.The reticulum and omasum exert a
mechanical action on the ingesta that reduces the mass to fine particles.

Besides, considerable absorption occurs across the epithelium of all three portions
of the forestomach. This epithelium is keratinized stratified squamous and performs at
least three important functions: protection, metabolism, and absorption. The stratum
corneum forms a protective shield against the rough, fibrous ingesta, whereas the
deeper strata metabolize short-chain, volatile fatty acids, particularly butyric, acetic,
and propionic acids, as the main products of fermentation. Sodium, potassium,
ammonia, urea, and many other products are also absorbed from the ruminal contents.

All of the statements in the first paragraph about the rumen are true EXCEPT that

1) due to action of bacteria and protozoa, it is involved in fermentation

2) it is considered as the principal or main stomach of ruminants

3) it provides the greatest surface area for absorption

4) muscularis mucosa is absent in rumen

Which statement is NOT related to the process of fermentation?

1) Presence by the bacteria and protozoa

2) The major role and engagement of papillae

3) Absorption of the fatty acids into the blood

4) Production of volatile fatty acids and methane

Which of the following definitions is best matched with the term ‘ingesta’?

1) The food found only in the stomach 2) The bolus present in the mouth
3) Swallowed food materials 4) Digestive secretions

The food passes from the mouth to the following organs, respectively ---------- .
1) Rumen, reticulum, omasum, abomasum

2) Rumen, reticulum, mouth, abomasum, omasum

3) Reticulum, mouth, rumen, abomasum, omasum

4) Rumen, mouth, reticulum, omasum, abomasum

According to the last paragraph, which statement is NOT True?

1) The stratum corneum of the epithelium is protected by the deeper strata.
2) Absorption of ammonia, urea and some minerals takes place by rumen.
3) Fermentation causes production of butyric, acetic, and propionic acids.

4) Metabolization of volatile fatty acids is done by the epithelium of forestomach.
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